ACMAT100 Spring 2023
Professor Manguba-Glover
Classwork 3 Name:

Check-In Problem: Evaluate /39 - 32 + (22 +9)

Solution

V39-9+(4+9)
30+13

-[V&

V39 -32+(22+9)

Challenge Problem: Why is this a poorly written expression?

6+2(1+2)

Solution The placement of the division sign with the parenthetical makes the problem am-
biguous. There are two ways that people could reasonably solve this, and they do not produce
the same answer.

6+2(1+2)=6+2(3) 6+2(1+2)=6+2(3)
=66 =33
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Classwork Problems:

1. Evaluate each exponential expression.

(a) 2%.2°
(b) 7277

Solution

(a)

22 . 25 — 22+5
=97
=128

(b)

72 7=3 _ 72-3

=7-1

37
=33
"~ 33
B 1
o7




2. Simplify each exponential expression.

(a) 273y
(b) a3 - 22
(c) =™ty
236
(d) —55
Solution
(a)
-3 i
x Yy = 3
(b)
.733 .”L’2 :$3+2
-]
(c)
-4 | Y
r Y= E
(d)
a0 36-29
229

(e) (3z)°
(f) (8z%)*
2
w (-2)
(e)
(32)° = (3)*(x)°
=| 2723
()
(82°)% = (8)*(a”)?
= 642%2
=|642°
(2)

(z) i (@2))22




3. Simplify each exponential expression.

2
(a) (-623y)(-22°y?) (©) ~10a'305
30a18b-3
9 8 \-2 26, 45\ 0
30
o (52%) @ ()
™%y 41z=%y
Solution
(a) (c)
(-62°y)(-22°y%) = (-6)(-2)a’a"yy’ ~10010°\*_ (10 o 1 \*
_ 12435142 30363 )\ 30 al® b3
2
=] 12283 _ _1a13—18b6—(—3))
3
(b) 2
L 59
=|--a"b
(x—zys -2 2 8 -2 3 )
x—4y12) :(F'p) 2
_ _%) (a—5)2(b9)2
_ (27 (D 512)2
1
_ (:L‘_2+4y_4)_2 = Zgq 10p18
(a2 —AN-2
i ($2y_2) —4\-2 bt
:(x) (y ) = 910
2y
8 (@)

|y 30226445 0
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